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by λx⊕ (1− λ)y the unique point z of [x, y] which satisfies

d(z, x) = (1− λ)d(x, y) and d(z, y) = λd(x, y).(2.1)

Such metric spaces are usually called convex metric spaces [15]. Moreover, if we
have

d
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y

)
6 1
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d(x, y).

for all u, x, y in X, then X is said to be a hyperbolic metric space (see [19]).
Obviously, normed linear spaces are hyperbolic spaces. One can consider, as non-
linear examples, the Hadamard manifolds [3], the Hilbert open unit ball equipped
with the hyperbolic metric [7].

A hyperbolic metric space X is said to be uniformly convex if for any a ∈ X, for
every r > 0, and for each ε > 0,

(2.2) δ(r, ε) =

inf

{
1− 1

r
d

(
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x⊕ 1

2
y, a

)
: d(x, a) 6 r, d(y, a) 6 r, d(x, y) > rε

}
> 0.

Let us observe that δ(r, 0) = 0, and δ(r, ε) is an increasing function of ε for every
fixed r (for more properties of δ, see [9]).

A metric space (X, d) is a CAT(0) space if it is geodesically connected and if every
geodesic triangle in X is at least as thin as its comparison triangle in the Euclidean
plane. For other equivalent definitions and basic properties, we refer the reader to
standard texts such as [1, 2]. Complete CAT(0) spaces are often called Hadamard
spaces. A subset C of a CAT(0) space is convex if [x, y] ⊆ C for all x, y ∈ C. we
need the following lemmas.

Lemma 2.1 ([2, Proposition 2.2]). Let X be a CAT(0) space, p, q, r, s ∈ X and
λ ∈ [0, 1]. Then

d(λp⊕ (1− λ)q, λr ⊕ (1− λ)s) 6 λd(p, r) + (1− λ)d(q, s).

Lemma 2.2 ([6, Lemma 2.4]). Let X be a CAT(0) space, x, y, z ∈ X and λ ∈ [0, 1].
Then

d(λx⊕ (1− λ)y, z) 6 λd(x, z) + (1− λ)d(y, z).

Lemma 2.3 ([6, Lemma 2.5]). Let X be a CAT(0) space, x, y, z ∈ X and λ ∈ [0, 1].
Then

d2(λx⊕ (1− λ)y, z) 6 λd2(x, z) + (1− λ)d2(y, z)− λ(1− λ)d2(x, y).

For CAT(0) spaces, it follows from Lemma 2.3 that

δ(r, ε) = δ(ε) = 1−
√

1− ε2

4
(2.3)

and thus CAT(0) spaces are uniformly convex. From now on, we assume that X is
a CAT(0) space.
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Lemma 2.4. Let X be a CAT(0) space and a ∈ X. Then for any r > 0 and
ε > 0 there exists δ(r, ϵ) > 0 such that if x, y ∈ X with d(x, a) 6 r, d(y, a) 6 r and
d(x, y) > rε, then

d(λx⊕ (1− λ)y, a) 6 r [1− 2min{λ, (1− λ)}δ(ϵ)]
for all λ ∈ [0, 1].

Proof. Let λ 6 1/2, u = λx⊕ (1− λ)y and

v = 2λ

(
1

2
x⊕ 1

2
y

)
⊕ (1− 2λ)y.

Then, by (2.1), we have d(v, y) = 2λd
(
1
2x⊕ 1

2y, y
)
= λd(x, y) = d(u, y). Uniqueness

property in (2.1) implies that v = u. Also, by (2.2),

d

(
1

2
x⊕ 1

2
y, a

)
6 r(1− δ(ϵ)).

This together with Lemma 2.2 implies that

d(λx⊕ (1− λ)y, a) = d(v, a) 6 2λd

(
1

2
x⊕ 1

2
y, a

)
+ (1− 2λ)d(y, a)

6 2λr(1− δ(ϵ)) + (1− 2λ)r = r(1− 2λδ(ϵ))

= r [1− 2min{λ, (1− λ)}δ(ϵ)] .
In the case that λ > 1/2, we put α = 1− λ < 1/2 and apply the proved case. �

Lemma 2.5. Let X be a CAT(0) space, a ∈ X, {xn} and {yn} be two sequences
in X and {λn} be a sequence in [0, 1]. If lim infn→∞ λn(1− λn) > 0,

lim sup
n→∞

d(xn, a) 6 R, lim sup
n→∞

d(yn, a) 6 R and lim
n→∞

d(λnxn ⊕ (1− λn)yn, a) = R

for some R ∈ [0,∞), then limn→∞ d(xn, yn) = 0.

Proof. Without loss of generality, we may assume that R > 0. Assume that the
conclusion is not true. Then, there exist ε > 0 and subsequence {ni} of {n} such
that d(xni , yni) > (R+ 1)ε for all i > 1. Let γ ∈ (0, 1) be arbitrarily chosen. There
exists subsequence {nj} of {ni} such that d(xnj , a) 6 R + γ and d(ynj , a) 6 R + γ
for all j > 1. Since lim infn→∞ λn(1 − λn) > 0, there exist λ > 0 and subsequence
{nk} of {nj} such that λnk

(1 − λnk
) > λ for all k > 1. It follows from Lemma 2.4

that

0 < 2λδ(ε) 6 2min{λnk
, (1− λnk

)}δ(ε) 6 1− 1

R+ γ
d(λnk

xnk
⊕ (1− λnk

)ynk
, a).

Since limk→∞ d(λnk
xnk

⊕ (1− λnk
)ynk

, a) = R, we obtain

0 < 2λδ(ε) 6 γ

R+ γ
.

Letting γ → 0, we get a contradiction. �

Let {xn} be a bounded sequence in a CAT(0) space X. For x ∈ X, we set

r(x, {xn}) = lim sup
n→∞

d(x, xn).
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The asymptotic radius r({xn}) of {xn} is given by

r({xn}) = inf{r(x, {xn}) : x ∈ X},

and the asymptotic center A({xn}) of {xn} is the set

A({xn}) = {x ∈ X : r(x, {xn}) = r({xn})}.

It is known from Proposition 7 of [5] that in a CAT(0) space, A({xn}) consists of
exactly one point.

A sequence {xn} ⊂ X is said to ∆-converge to x ∈ X if A({xnk
}) = {x} for

every subsequence {xnk
} of {xn}. Uniqueness of asymptotic center implies that

CAT(0) space X satisfies Opial’s property, i.e., for given {xn} ⊂ X such that {xn}
∆-converges to x and given y ∈ X with y ̸= x,

lim sup
n→∞

d(xn, x) < lim sup
n→∞

d(xn, y).

Since it is not possible to formulate the concept of demiclosedness in a CAT(0)
setting, as stated in linear spaces, let us formally say that ”I − T is demiclosed at
zero” if the conditions, {xn} ⊆ C ∆- converges to x and d(xn, Txn) → 0 imply
x ∈ F (T ).

We need the following lemmas in the sequel.

Lemma 2.6 ([13]). Every bounded sequence in a complete CAT(0) space always
has a ∆-convergent subsequence.

Lemma 2.7 ([4]). If C is a closed convex subset of a complete CAT(0) space and
if {xn} is a bounded sequence in C, then the asymptotic center of {xn} is in C.

Lemma 2.8 ([22]). Let {an} and {bn} be sequences of nonnegative real numbers
such that

∑∞
n=1 bn < ∞ and

an+1 6 an + bn

for all n > 1. Then limn→∞ an exists.

3. Convergence theorems

Let C be a nonempty closed convex subset of a CAT(0) space X. Let S, T : C →
C be two mapping. Define the iterative sequence {xn} as follows:

x1 ∈ C, chosen arbitrary,
yn = (1− αn)xn ⊕ αnSxn,
zn = (1− αn)xn ⊕ αnTxn,
xn+1 = βnyn ⊕ (1− βn)zn, n > 1,

(3.1)

where {αn} and {βn} are two sequences in [0, 1]. If X is a linear space such as
Hilbert space, then iterative scheme (3.1) reduces to Moudafi’s iterative scheme [16]:
x1 ∈ C,

xn+1 = (1− αn)xn + αn[βnSxn + (1− βn)Txn], n > 1.(3.2)

The following theorem extends Theorem 3.1(i), (ii) of Kim [11] and hence Theo-
rem 4.1(i), (iii) of Iemoto and Takahashi [8] to CAT(0) spaces.
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Theorem 3.1. Let X be a complete CAT(0) space and C be a nonempty, closed
and convex subset of X, and let S, T be two quasi-nonexpansive mappings of C into
itself such that I − S, I − T are demiclosed at zero with F (S)∩F (T ) ̸= ∅. Suppose
that {xn} is defined by (3.1). Then the following hold:

(i) If lim infn→∞ αn(1−αn) > 0 and
∑∞

n=1(1−βn) < ∞, then {xn} ∆-converges
to a fixed point of S.

(ii) If lim infn→∞ αn(1 − αn) > 0 and lim infn→∞ βn(1 − βn) > 0, then {xn}
∆-converges to a common fixed point of S and T .

Proof. Let p ∈ F (S)∩F (T ). Since S and T are quasi-nonexpansive, by Lemma 2.2,
we have

d(xn+1, p) = d (βnyn ⊕ (1− βn)zn, p)

6 βnd(yn, p) + (1− βn)d(zn, p)

6 βn [(1− αn)d(xn, p) + αnd(Sxn, p)]

+(1− βn) [(1− αn)d(xn, p) + αnd(Txn, p)]

6 βn [(1− αn)d(xn, p) + αnd(xn, p)]

+(1− βn) [(1− αn)d(xn, p) + αnd(xn, p)]

= d(xn, p),(3.3)

which implies that limn→∞ d(xn, p) exists. Repeating (3.3), we obtain

d(xn, p) 6 d(x1, p)

for all n > 1. Therefore,

d(Sxn, Txn) 6 d(Sxn, p) + d(Txn, p) 6 2d(xn, p) 6 2d(x1, p).

(i) Utilizing (2.1) and Lemma 2.1, we have

d(xn+1, yn) = d (βnyn ⊕ (1− βn)zn, yn)

= (1− βn)d(yn, zn)

= (1− βn)d((1− αn)xn ⊕ αnSxn, (1− αn)xn ⊕ αnTxn)

6 (1− βn)αnd(Sxn, Txn)

6 (1− βn)d(Sxn, Txn).

Since
∑∞

n=1(1− βn) < ∞, we obtain

∞∑
n=1

d(xn+1, yn) 6
∞∑
n=1

(1− βn)d(Sxn, Txn)

6 2d(x1, p)

∞∑
n=1

(1− βn) < ∞,(3.4)

which implies that limn→∞ d(xn+1, yn) = 0 and thus

lim
n→∞

d(yn, p) = lim
n→∞

d(xn, p).(3.5)

From Lemma 2.3, we have

d2(yn, p) 6 (1− αn)d
2(xn, p) + αnd

2(Sxn, p)− αn(1− αn)d
2(xn, Sxn)



304 R. WANGKEEREE AND H. DEHGHAN

6 d2(xn, p)− αn(1− αn)d
2(xn, Sxn).

It follows that

αn(1− αn)d
2(xn, Sxn) 6 d2(xn, p)− d2(yn, p).

Since lim infn→∞ αn(1− αn) > 0, it follows from (3.5) that

lim
n→∞

d(xn, Sxn) = 0.(3.6)

Since {xn} is bounded, by Lemma 2.6, there exists a subsequence {xni} of {xn}
which ∆-converges to a point y. By Lemma 2.7, y ∈ C. Since I − S is demiclosed
at zero, it follows from (3.6) that y ∈ F (S). If {xnj} is another subsequence of {xn}
which ∆-converges to a point z ∈ C, then by using the same argument as in the
proof above, we get z ∈ F (S). We show that for any q ∈ F (S), limn→∞ d(xn, q)
exists. We note that

d(yn, q) 6 (1− αn)d(xn, q) + αnd(Sxn, q)

6 d(xn, q)

6 d(yn−1, q) + d(xn, yn−1).

It follows from (3.4) and Lemma 2.8 that limn→∞ d(yn, q) exists which together with
limn→∞ d(xn, yn−1) = 0 implies that limn→∞ d(xn, q) exists. Next, we show y = z.
If not, By Opial’s condition,

lim
n→∞

d(xn, y) = lim
i→∞

d(xni , y)

< lim
i→∞

d(xni , z) = lim
n→∞

d(xn, z)

= lim
j→∞

d(xnj , z) < lim
j→∞

d(xnj , y)

= lim
n→∞

d(xn, y).(3.7)

This contradiction shows y = z and hence {xn} ∆-converges to y ∈ F (S).
(ii) For any p ∈ F (S)∩F (T ), by (3.3), we know that limn→∞ d(xn, p) exists. Let

lim
n→∞

d(xn, p) = R.(3.8)

Moreover, the inequalities d(Sxn, p) 6 d(xn, p) and d(Txn, p) 6 d(xn, p) imply that

lim sup
n→∞

d(Sxn, p) 6 R and lim sup
n→∞

d(Txn, p) 6 R.(3.9)

Next, we show that

lim
n→∞

d(yn, p) = R and lim
n→∞

d(zn, p) = R.(3.10)

Using (3.1) and Lemma 2.2, we have

d(yn, p) 6 d(xn, p) and d(zn, p) 6 d(xn, p).

Also,

d(xn+1, p) 6 βnd(yn, p) + (1− βn)d(zn, p)

6 βnd(yn, p) + (1− βn)d(xn, p)

and

d(xn+1, p) 6 βnd(xn, p) + (1− βn)d(zn, p).
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Since lim infn→∞ βn(1− βn) > 0, then

d(xn+1, p)− d(xn, p)

βn
+ d(xn, p) 6 d(yn, p)

and

d(xn+1, p)− d(xn, p)

(1− βn)
+ d(xn, p) 6 d(zn, p)

for sufficiently large numbers n. Taking lim infn→∞ in both sides, we obtain

lim
n→∞

d(xn, p) 6 lim inf
n→∞

d(yn, p) and lim
n→∞

d(xn, p) 6 lim inf
n→∞

d(zn, p).

The inequalities (3.8)-(3.10) together with Lemma 2.5 imply that

lim
n→∞

d(xn, Sxn) = 0 and lim
n→∞

d(xn, Txn) = 0.(3.11)

Since {xn} is bounded, by Lemma 2.6, there exists a subsequence {xni} of {xn}
which ∆-converges to a point y. By Lemma 2.7, y ∈ C. Since I − S and I − T are
demiclosed at zero, it follows from (3.11) that y ∈ F (S)∩F (T ). If {xnj} is another
subsequence of {xn} which ∆-converges to a point z ∈ C, then z ∈ F (S) ∩ F (T ).
Since for any q ∈ F (S)∩F (T ), limn→∞ d(xn, q) exists, by the same argument as in
(3.7) we conclude that y = z. Hence {xn} ∆-converges to y ∈ F (S) ∩ F (T ). �

The next theorem is a generalization of Theorem 3.2 of Kim [11] and hence
Theorem 4.1(ii) of Iemoto and Takahashi [8].

Theorem 3.2. Let X be a complete CAT(0) space and C be a nonempty, closed
and convex subset of X, and let S be a quasi-nonexpansive mappings of C into itself
and T be a nonexpansive mappings of C into itself such that F (S) ∩ F (T ) ̸= ∅.
Suppose that {xn} is defined by (3.1). If

∑∞
n=1 αn(1−αn) = ∞ and

∑∞
n=1 βn < ∞,

then {xn} ∆-converges to a fixed point of T .

Proof. For any p ∈ F (S) ∩ F (T ), it follows from (3.3) that limn→∞ d(xn, p) exists
and d(xn, p) 6 d(x1, p) for all n > 1. Utilizing (2.1) and Lemma 2.1, we have

d(xn+1, zn) = βnd(yn, zn) 6 βnαnd(Sxn, Txn) 6 βnd(Sxn, Txn) 6 2d(x1, p)βn.

Since
∑∞

n=1 βn < ∞, then limn→∞ d(xn+1, zn) = 0 and thus

lim
n→∞

d(zn, p) = lim
n→∞

d(xn, p).(3.12)

From Lemma 2.3, we have

d2(zn, p) 6 (1− αn)d
2(xn, p) + αnd

2(Txn, p)− αn(1− αn)d
2(xn, Txn)

6 d2(xn, p)− αn(1− αn)d
2(xn, Txn)

6 (d(xn, zn−1) + d(zn−1, p))
2 − αn(1− αn)d

2(xn, Txn)

6 (2d(x1, p)βn−1 + d(zn−1, p))
2 − αn(1− αn)d

2(xn, Txn).

It follows that

αn(1− αn)d
2(xn, Txn) 6 (2d(x1, p)βn−1 + d(zn−1, p))

2 − d2(zn, p).
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Since
∑∞

n=1 βn < ∞ and limn→∞ d(zn, p) exists, then

∞∑
n=2

αn(1− αn)d
2(xn, Txn) < ∞.

This together with
∑∞

n=1 αn(1− αn) = ∞ implies that

lim inf
n→∞

d(xn, Txn) = 0.(3.13)

Moreover,

d(xn+1, Txn+1) 6 d(xn+1, Txn) + d(Txn+1, Txn)

6 βnd(yn, Txn) + (1− βn)d(zn, Txn) + d(xn+1, xn)

6 βn [(1− αn)d(xn, Txn) + αnd(Sxn, Txn)]

+(1− βn)(1− αn)d(xn, Txn)

+βnαnd(Sxn, xn) + (1− βn)αnd(Txn, xn)

6 d(xn, Txn) + βn [d(Sxn, xn) + d(Sxn, Txn)]

6 d(xn, Txn) + 4βnd(x1, p).

Since
∑∞

n=1 βn < ∞, it follows from Lemma 2.8 that limn→∞ d(xn, Txn) exists.
Hence, by (3.13), we obtain

lim
n→∞

d(xn, Txn) = 0.(3.14)

Since {xn} is bounded, by Lemma 2.6, there exists a subsequence {xni} of {xn}
which ∆-converges to a point y. By Lemma 2.7, y ∈ C. we show that y ∈ F (T ). If
Ty ̸= y, by Opial’s condition and (3.14), we have

lim sup
n→∞

d(xn, y) < lim sup
n→∞

d(xn, T y)

6 lim sup
n→∞

[d(xn, Txn) + d(Txn, T y)]

6 lim sup
n→∞

d(xn, y).

This is a contradiction. Hence we obtain Ty = y. By the same argument as in the
proof of (i) in Theorem 3.1, {xn} ∆-converges to y ∈ F (T ). �

Two mappings S, T : C → C are said to satisfy Condition A [10, 20] iff there
exists a nondecreasing function f : [0,∞) → [0,∞) with f(0) = 0 and f(r) > 0 for
all r > 0 such that

f(d(x, F )) 6 1

2
(d(x, Sx) + d(x, Tx))

for all x ∈ C, where F = F (S) ∩ F (T ) ̸= ∅ and d(x, F ) = inf{d(x, y) : y ∈ F}.

Theorem 3.3. Let X be a complete CAT(0) space and C be a nonempty, closed
and convex subset of X, and let S, T be two quasi-nonexpansive mappings of C into
itself satisfying Condition A with F = F (S) ∩ F (T ) ̸= ∅. Suppose that {xn} is
defined by (3.1). If lim infn→∞ αn(1−αn) > 0 and lim infn→∞ βn(1−βn) > 0, then
{xn} converges strongly to a common fixed point of S and T .
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Proof. By taking infimum over all p ∈ F on both sides of (3.3), we see that

d(xn+1, F ) 6 d(xn, F ),

which implies that limn→∞ d(xn, F ) exists. We claim that limn→∞ d(xn, F ) = 0. If
not, there exist ε0 > 0 and a subsequence {nk} of {n} such that d(xnk

, F ) > ε0 for
all k > 1. Using Condition A and (3.11), we obtain

0 < f(ε0) 6 f(d(xnk
, F )) 6 1

2
(d(xnk

, Sxnk
) + d(xnk

, Txnk
)) → 0

as k → ∞, which is a contradiction. Moreover, {xn} is Cauchy. To see this let
n,m > k > 1. Then, by (3.3), we have

d(xn, xm) 6 d(xn, p) + d(xm, p) 6 2d(xk, p)

and thus

d(xn, xm) 6 2d(xk, F ).

Since limk→∞ d(xk, F ) = 0, then {xn} is Cauchy and converges to some q ∈ C.
Since F is closed, then q ∈ F . This completes the proof. �

The following is an example of a quasi-nonexpansive mapping in a non-Hilbert
CAT(0) space which is not a nonexpansive mapping.

Example 3.4. Consider R2 with the usual Euclidean meter d. Let X = R2 be an
R-tree with the radial meter dr, where dr(x, y) = d(x, y) if x and y are situated on
a Euclidean straight line passing through the origin and dr(x, y) = d(x,0) + d(y,0)
otherwise (see [12] and [17, page 65]). We put

C = {(t, 0) : t ∈ [0, 3/2]} ∪ {(0, t) : t ∈ [0, 3/2]} ⊂ R2

and define T : C → C by

T (t, 0) =

(
0,

t2

2

)
and T (0, t) =

(
t2

2
, 0

)
for all t ∈ [0, 3/2]. Clearly, F (T ) = {(0, 0)}. Let x = (t, 0) and 0 = (0, 0). Since x
and 0 are situated on a Euclidean straight line passing through the origin, we have

dr(Tx,0) = d(Tx,0) =
t2

2
6 t = dr(x,0).

Similarly, for y = (0, t), dr(Ty,0) 6 dr(y,0). Therefore, T is quasi-nonexpansive.
But it is not a nonexpansive mapping. In fact, if x = (5/4, 0) and y = (3/2, 0), then
we have

dr(Tx, Ty) =
11

32
>

1

4
= dr(x, y).

Also, taking S = T , we see that S and T satisfy Condition A with the function
f : [0,∞) → [0,∞) defined by f(r) = r. Note that for x = (t, 0) we have dr(x, F ) =
d(x,0) = t and

dr(x, Tx) = d(x,0) + d(Tx,0) = t+
t2

2
.
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Birkhäuser, Basel, 1995.

[2] M. Bridson and A. Haefliger, Metric Spaces of Nonpositive Curvature, Springer-Verlag, Berlin,
Heidelberg, New York, 1999.

[3] H. Busemann, Spaces with non-positive curvature, Acta Math. 80 (1948), 259–310.
[4] S. Dhompongsa, W. A. Kirk and B. Panyanak, Nonexpansive set-valued mappings in metric

and Banach spaces, J. Nonlinear and Convex Anal. 8 (2007), 35–45.
[5] S. Dhompongsa, W. A. Kirk and B. Sims, Fixed points of uniformly lipschitzian mappings,

Nonlinear Anal. 65 (2006) 762–772.
[6] S. Dhompongsa and B. Panyanak, On ∆-convergence theorems in CAT(0) spaces, Comput.

Math. Appl. 56 (2008), 2572–2579.
[7] K. Goebel and S. Reich, Uniform Convexity, Hyperbolic Geometry, and Nonexpansive Map-

pings, in Series of Monographs and Textbooks in Pure and Applied Mathematics, vol. 83,
Dekker, New York, 1984.

[8] S. Iemoto and W. Takahashi, Approximating common fixed points of nonexpansive mappings
and nonspreading mappings in a Hilbert space, Nonlinear Anal. 71 (2009), 2082–2089.

[9] M. A. Khamsi and A. R. Khan, Inequalities in metric spaces with applications, Nonlinear Anal.
74 (2011), 4036–4045.

[10] S. H. Khan and H. Fukhar-ud-din, Weak and strong convergence of a scheme with errors for
two nonexpansive mappings, Nonlinear Anal. 61 (2005), 1295–1301.

[11] G. E. Kim, Weak and strong convergence theorems of quasi-nonexpansive mappings in a Hilbert
spaces, J. Optim. Theory Appl. 152 (2012), 727–738.

[12] W. A. Kirk, Some recent results in metric fixed point theory, J. Fixed Point Theory Appl. 2
(2007), 195–207.

[13] W. A. Kirk and B. Panyanak, A concept of convergence in geodesic spaces, Nonlinear Anal.
68 (2008), 3689–3696.

[14] W. R. Mann, Mean value methods in iteration, Proc. Am. Math. Soc. 4 (1953), 506–510.
[15] K. Menger, Untersuchungen über allgemeine metrik, Math. Ann. 100 (1928), 75–163.
[16] A. Moudafi, Krasnoselski-Mann iteration for hierarchical fixed point problems, Inverse Probl.

23 (2007), 1635–1640.
[17] A. Papadopoulos, Metric spaces, convexity and nonpositive curvature, IRMA Lectures in Math-

ematics and Theoretical Physics, 6. European Mathematical Society (EMS), Zürich, 2005.
[18] S. Reich, Weak convergence theorems for nonexpansive mappings in Banach spaces, J. Math.

Anal. Appl. 67 (1979), 274–276.
[19] S. Reich and I. Shafrir, Nonexpansive iterations in hyperbolic spaces, Nonlinear Anal. 15 (1990),

537–558.
[20] H. F. Senter and W.G. Dotson, Approximating fixed points of nonexpansive mappings, Proc.

Am. Math. Soc. 44 (1974), 375–380.
[21] W. Takahashi and G. E. Kim, Approximating fixed points of nonexpansive mappings in Banach

spaces, Math. Jpn. 48 (1998), 1–9.
[22] K. K. Tan and H. K. Xu,Approximating fixed points of nonexpansive mappings by the Ishikawa

iteration process, J. Math. Anal. Appl. 178 (1993), 301–308.
[23] R. Wittmann, Approximation of fixed points of nonexpansive mappings, Arch. Math. 58 (1992),

486–491.

Manuscript received November 21, 2013

revised March 20, 2014



STRONG AND ∆-CONVERGENCE OF MOUDAFI’S ITERATIVE SCHEME 309

R. Wangkeeree
Department of Mathematics, Faculty of Science, Naresuan University, Phitsanulok 65000, Thailand

E-mail address: rabianw@nu.ac.th

H. Dehghan
Department of Mathematics, Institute for Advanced Studies in Basic Sciences (IASBS), Gava Zang,
Zanjan 45137-66731, Iran

E-mail address: h−dehghan@iasbs.ac.ir, hossein.dehgan@gmail.com


